

BID NUMBER - PURCH 2015-126
INTERIOR PAINTING AND VINYL WALL COVERING
AND EXTERIOR PAINTING/STAINING/POWER WASHING

BID COMPARISON

Bidder	A. INTERIOR PAINTING AND VINYL WALL COVERING											
	DURING OFFICE HOURS											
	Item #1 Surface to be Painted			Item #2 Doors			Item #3 Door Frames			Item #4 Moldings/Window Frames/Railings		
	Unit Price	Est. Annual Quantity (SF)	Total	Unit Price	Est. Annual Quantity (EA)	Total	Unit Price	Est. Annual Quantity (EA)	Total	Unit Price	Est. Annual Quantity (LF)	Total
1 Tito Contractors, Inc.	\$0.28	7035	\$1,969.80	\$29.75	12	\$357.00	\$13.00	13	\$169.00	\$1.00	950	\$950.00
2 JB Contracting, Inc.	\$0.28	7035	\$1,969.80	\$32.00	12	\$384.00	\$12.00	13	\$156.00	\$0.99	950	\$940.50
3 Colossal Contractors, Inc.	\$0.35	7035	\$2,462.25	\$35.00	12	\$420.00	\$20.00	13	\$260.00	\$1.00	950	\$950.00
4 Royster Construction, Inc.	\$0.40	7035	\$2,814.00	\$20.00	12	\$240.00	\$15.00	13	\$195.00	\$0.50	950	\$475.00
5 M&S Enterprises, Inc.	\$0.38	7035	\$2,673.30	\$28.00	12	\$336.00	\$10.00	13	\$130.00	\$1.00	950	\$950.00
6 E.A.R.N. Contractors, Inc.	\$0.45	7035	\$3,165.75	\$30.00	12	\$360.00	\$15.00	13	\$195.00	\$0.90	950	\$855.00
7 Unisource Services, LLC	\$0.58	7035	\$4,080.30	\$35.00	12	\$420.00	\$18.00	13	\$234.00	\$1.50	950	\$1,425.00

A. Interior Painting and Vinyl Wall Covering (continued)							
DURING OFFICE HOURS (continued)							
Bidder	Item #5 Vinyl Wall Covering			Item #6 Demo All Vinyl Wall Covering and Adhesive Covering as Necessary to Receive New Vinyl Wall Covering or Paint as Required			SUBTOTAL A (ITEMS 1 -6)
	Unit Price	Est. Annual Quantity (SY)	Total	Unit Price	Est. Annual Quantity (EA)	Total	
1 Tito Contractors, Inc.	\$6.75	1	\$6.75	\$4.50	1	\$4.50	\$3,457.05
2 JB Contracting, Inc.	\$9.75	1	\$9.75	\$3.25	1	\$3.25	\$3,463.30
3 Colossal Contractors, Inc.	\$6.50	1	\$6.50	\$4.50	1	\$4.50	\$4,103.25
4 Royster Construction, Inc.	\$6.00	1	\$6.00	\$40.00	1	\$40.00	\$3,770.00
5 M&S Enterprises, Inc.	\$9.00	1	\$9.00	\$10.00	1	\$10.00	\$4,108.30
6 E.A.R.N. Contractors, Inc.	\$8.00	1	\$8.00	\$6.00	1	\$6.00	\$4,589.75
7 Unisource Services, LLC	\$15.00	1	\$15.00	\$9.75	1	\$9.75	\$6,184.05

Bidder	A. INTERIOR PAINTING AND VINYL WALL COVERING												
	AFTER OFFICE HOURS												
	Item #7 Surface to be Painted			Item #8 Doors			Item #9 Door Frames			Item #10 Moldings/Window Frames/Railings			
	Unit Price	Est. Annual Quantity (SF)	Total	Unit Price	Est. Annual Quantity (EA)	Total	Unit Price	Est. Annual Quantity (EA)	Total	Unit Price	Est. Annual Quantity (LF)	Total	
1	Tito Contractors, Inc.	\$0.28	88035	\$24,649.80	\$29.75	161	\$4,789.75	\$13.00	211	\$2,743.00	\$1.00	1350	\$1,350.00
2	JB Contracting, Inc.	\$0.29	88035	\$25,530.15	\$32.00	161	\$5,152.00	\$12.00	211	\$2,532.00	\$0.99	1350	\$1,336.50
3	Colossal Contractors, Inc.	\$0.35	88035	\$30,812.25	\$35.00	161	\$5,635.00	\$20.00	211	\$4,220.00	\$1.00	1350	\$1,350.00
4	Royster Construction, Inc.	\$0.40	88035	\$35,214.00	\$20.00	161	\$3,220.00	\$15.00	211	\$3,165.00	\$0.50	1350	\$675.00
5	M&S Enterprises, Inc.	\$0.40	88035	\$35,214.00	\$30.00	161	\$4,830.00	\$11.00	211	\$2,321.00	\$1.20	1350	\$1,620.00
6	E.A.R.N. Contractors, Inc.	\$0.45	88035	\$39,615.75	\$30.00	161	\$4,830.00	\$15.00	211	\$3,165.00	\$0.90	1350	\$1,215.00
7	Unisource Services, LLC	\$0.87	88035	\$76,590.45	\$52.50	161	\$8,452.50	\$27.00	211	\$5,697.00	\$2.25	1350	\$3,037.50

Bidder	A. Interior Painting and Vinyl Wall Covering (continued)						
	AFTER OFFICE HOURS (continued)						
	Item #11 Vinyl Wall Covering			Item #12 Demo All Vinyl Wall Covering and Adhesive Covering as Necessary to Receive New Vinyl Wall Covering or Paint as Required			SUBTOTAL A (ITEMS 7-12)
	Unit Price	Est. Annual Quantity (SY)	Total	Unit Price	Est. Annual Quantity (EA)	Total	
1 Tito Contractors, Inc.	\$6.75	1	\$6.75	\$4.50	1	\$4.50	\$33,543.80
2 JB Contracting, Inc.	\$10.75	1	\$10.75	\$3.25	1	\$3.25	\$34,564.65
3 Colossal Contractors, Inc.	\$6.50	1	\$6.50	\$4.50	1	\$4.50	\$42,028.25
4 Royster Construction, Inc.	\$6.00	1	\$6.00	\$40.00	1	\$40.00	\$42,320.00
5 M&S Enterprises, Inc.	\$13.00	1	\$13.00	\$15.00	1	\$15.00	\$44,013.00
6 E.A.R.N. Contractors, Inc.	\$10.00	1	\$10.00	\$8.00	1	\$8.00	\$48,843.75
7 Unisource Services, LLC	\$22.50	1	\$22.50	\$14.63	1	\$14.63	\$93,814.58

Bidder	B. EXTERIOR PAINTING/STAINING/POWER WASHING						
	Item #13 - During Office Hours			Item #14 - After Office Hours			SUBTOTAL B ITEMS 13 - 14
	Unit Price	Est. Annual Quantity (HOUR)	Total	Unit Price	Est. Annual Quantit y (HOUR)	Total	
1 Tito Contractors, Inc.	\$19.95	669.75	\$13,361.51	\$27.50	1	\$27.50	\$13,389.01
2 JB Contracting, Inc.	\$22.00	669.75	\$14,734.50	\$22.00	1	\$22.00	\$14,756.50
3 Colossal Contractors, Inc.	\$19.35	669.75	\$12,959.66	\$24.50	1	\$24.50	\$12,984.16
4 Royster Construction, Inc.	\$20.00	669.75	\$13,395.00	\$25.00	1	\$25.00	\$13,420.00
5 M&S Enterprises, Inc.	\$19.75	669.75	\$13,227.56	\$26.00	1	\$26.00	\$13,253.56
6 E.A.R.N. Contractors, Inc.	\$18.90	669.75	\$12,658.28	\$23.00	1	\$23.00	\$12,681.28
7 Unisource Services, LLC	\$25.00	669.75	\$16,743.75	\$37.50	1	\$37.50	\$16,781.25

Bidder	TOTAL BID BASED ON ESTIMATED QUANTITIES (SUBTOTAL A - ITEMS 1-6 + SUBTOTAL a - ITEMS 7-12 + SUBTOTAL B - ITEMS 13-14)
1 Tito Contractors, Inc.	\$50,389.86
2 JB Contracting, Inc.	\$52,784.45
3 Colossal Contractors, Inc.	\$59,115.66
4 Royster Construction, Inc.	\$59,510.00
5 M&S Enterprises, Inc.	\$61,374.86
6 E.A.R.N. Contractors, Inc.	\$66,114.78
7 Unisource Services, LLC	\$116,779.88